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+4/'5 +2~/2 FZ.
-(1+ N6+ \/10+15\/15)
18, ZsBA-RRAHEAL.
19. (4 $GYI+YT+3. (D) YT +D.
S e 5, (M) AYZ+Y D)
20, z=: (a+—)am=-1=_ a+1) 7Y

=z(“"—).

V== (a=1). ks,

v =D=3(b-3)
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21.

w2} (er )0r])-1e- 1)
6-3)

a P kot
{2‘\(1 b)} b ‘
/=345 +4/ 3V b =Y 5.

)a°+a%b5‘+a2b2+a!b*+ab +a*b‘
bd

at +adb® +a?bt +abt + b*
a®—b

(=)

(—) 52 (=) (p’—l)\/'ﬂi,
) —x/10— V15 (Z) VT +V14.

()28 (M) 2(1+43).

(F) k/—é—(a+b—c)+A/—21—(a—b+c).
GY) Vp+vp-1.
1) Jﬁi;ﬂ_¢%

G0 ‘/{(a+c)2(b+c)}+‘/{(a—b;(b—c)}.
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g B 8 8 8B X%

(ﬂ)ﬁﬁ=bh“1&=vfﬂa+VF?5
'\/1 - {‘/1+c ‘/1—_—}

(=) V{(WT=45)11\/T7 +184/ 5)}
=/ (12424/38)=+/T +4/ 5.

) (5+7¢2)x2_9_‘“;;\/_2=11+GV2,

VI1+6y/ 2 =3+4/2.
(=) 2=v3-3v2 (D) 144/ B+ 7

(Z) 64+4/5+4/1T.
v 241

%_(5+ V/31) =4.79.
(— +6+4/2=3863 (=) 3

B 8, s 1 was+viv-vai- /6),

VE+4/8 2

W4 H 5.

) 244/ 3 _ V224V 3)
V2HAV2 448 244/(4+24/3)
_~/2(2+~/8).

8+ 8
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(=) BAX

__6-5 = 5-2 6-2
W6 =B VB—=v2 6+42

=4/6+4/5—=(v/5+4/2)—=(v/6—=4/2)=0.
33. WBF AR BHER 522+ Ty? =78, zy=6.

%8 28
z~=3} w=-—3} "‘“\/3‘ "‘W/F
1 5
y=— ‘/ T) Y= ‘/ T
FLUGAR Z AR, SRS —, S5 00— A2 AR, S 0B ey~ A%
BE, BRI

gt N

W4 /Tp4+W 4= V15)’ (\/2)a
\/6+\/35)3 W8 = \/35)' ('\/2)3

A =

= WB+2y15p + WB=2y/15)°
(V12 -24/35)8 = (V12 =24/35)*
_(WEHVP (/B3 _ByE_ 7
T WTHNBR—(/T—+/B° 524/ 13
%

2 2
3. Womzm =20V 2)

5 2-
&—-]E ZH m-
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(z+1)2(z—2)+ (a2 =1)8/ 77 —4

36. W= : .
R PR R W G YWY =

(z+1){(z+1)(m-—2)+(x—1)~/m= 4}
(2—1){(.’3 —1)(@+2) + @+1)y/ 22 -4}

Plz—1)(z+2) — (z+1)3/ 22 -2 XS F8&, NI T8
@+1)[(z=1)2z+2)— @+1)(z—2)]V/ 22— 4, T 55

(0= 1)@+ D=1 +2) = @+ 1z =2)].

37. \/(1-Fz)=J(1+~/23 =\/32+1

V(l-2)= ~/(1_'~/23)=~/A32-1

38 AKX (a+b)® = a2+ b*+3ab(a+Db).

P aata/(@=bY) +a—4/(@2—b%)

+3¥/ {(a+ v a? = b®)(a— A aZ—b*)}
x [/ a4 v/(@— 0} + (o= v/(@=0%]

=20+3Y @ P o=20+3bn
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TILE BEHREZXH
B 1 R 58 &k 59 &
B 2 =3 .- :r;>—;—. z<-——§~.
m s s 24, 05, 24 . ;
B4 (—) 10 : ) 4% -
(=) Wz+Vy)k (@ O.
(H) 2ai.
B 5 (—) +10i. () =12 (=) -6
(m) —15i. (F) -4
B 6 (— 2 (=) V/3Bi. () -6i 1
) i (F) -5
W7 (—) ?=i3=1 (=) =i. = -1
() . () -3
M 8 (—) =-5-3i (—) —44+564.
M9 (— 1747. G T
(=) 1. (M) —+/2 +6i. ﬁ
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B 10. (—) =24+704. (=) A9
(=) =44/3i.

Wil (=) 14& (=) '2=-8
W j I
(=) -gtgt (™) 10.

(F) B+)rQ+i)=1=itit=l—i=1=—}.

a2—b2 . 2ab .
a1t Taarp

S)
B 12 (—) fKE 6T AR, a=—3,b5=4, I
Sidi=lf(23FtVI9+16 3+ 4/9+16);
VoEEE =y () 4 (B HI0),
=149 .
(=) kAR, a=0,b=2 %&: 1+i.
(=) 2=v5s
& T M B V.

1. (B & (& 2 =) (1-8p).

33
2 (—) 2v3 (= 11230 (=) 1429,
8% VB () g+igh

() 16. (7)) 22—z+1.
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&,
9 w=-24V2 01 V3, pany
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R ﬁ 123r ik,

-1+\/—3
2

f
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R . A EETE G P

-2 )

Hart=adxz=1x2= L =1

o B R OR T ' "
11. #FRAZBER 1 2551

—144/-=3 —1—-4/=-3
% .——2——=w1, _—2!—,3=m’_
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m BIEHKE, F n=3m-
Bl ofmdofn= {0l mt (w3 m=1n41n=2,
# n=3m+1
A o™ +op™ =0 x o, + 0™ X o,
=w wy=—1 (259 /]
NE n=3m+2.
B 4 = ofm x 0F 4+ afm x o
=Wyt wy= —1. [(2REO M) -
12. (—) 2*+P=(z+y)(a*~zy+y?).
Hh ozt ol B od®+ %P =23+ ZERE
A Wzt oy 5 0%+ 0dy® =23 +° ZER
2% 4y = (z+y) (@2 +2°y) (0’2 + wy).
(=) A a+ 0+ — Sabe. '
= (a+b+c)(a?+b%+c? — be —ca —ab).
5 (—) .
13. AR ZEMBa+Bi ka-Bi 2, A
o, B EREE.
az?+bzr+c=a{z—(a+B1)} {z—(a - L)}
=a{(z—a)—Bi} {(z—a)+Bi}



174 RYEB—FE REERESR Bt

—a{@—a)+ 8%}, _
St (p—a)?+ B RER o 2SR, MEEERL
T T S E
14. V/Zi6=4i, vV di=v2(1+79). %
M~/ Ti= =/ T(1+i) T —16 2 Z—
AL 16 ZAHHE —4i PR —4i ZAHHR,
IS v/ T (1—0) & —v/Z 1=,
15 () 3-4i (=) (a+b)—(a—b).
16, fRiEI, B,
(z+2y) —yi= —2+44.
24%y=—-2, —y=4 [ 62 %]
S y=—4, z=6.






